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01. fomm fomm &% ogaR fefafed § § wH-81 weg o= § fiF 87
(1) dren (2) &
(3) ¥™ (4) e

02. f=fafga @ 9 S9-u1 wee fomwo 48 27

(1) sgremmt 2) 3
(3) et (4) TwRH

03. Tfafgd % ¥ @& fmisgdae 9@ & qgaHe 39 Y faRa|
(1) #9 wgl; qu el 7=l ? (2) q9 Ha T I3 B I
(3) TS SIS ¥ Bt (4) foram s@ o *H1 Ul

04. ‘T T <T@ W 3H Jd9 hl JdHMHRIA H Scdd W Hfafed d @
HE-IT T H&l B, dqisy|

(1) & T <T@ T 2) ® "M @ S Fl
3) # Wl dEd S g (4) ® T @A T e

05. f=fafga @ 9 A yowe s 1 Wi wgEmer fafEg)

(1) femr (2) ferwa
(3) & 4) o f@
T HE T AW
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08. FCMTR 3¢ 1 WHE hal 917
(1) e 2) =g
(3) YR (4) o
T HE T AW
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09. T W HHA-W §G GHg T& oft?
(1) e gar gufd’ i oo gl
(2) AT H gIE T
(3) TH WO H gE WO AT
(4) A IF FIHT <A

10. gf@m = o
(1) ‘5@ (2) WW o=
(3) =8 W W= 4) &

11. f=fafRgd oo = T/ w7 0 @ W Thia el Wee o9dT 8, U

I g gHu
(1) @ 3 f& < 2) fa = 1 &
3 ® & %4 4) 99 9

12. hogel # & ed § fhad faardt g &7
(1) o6 ) 11
3) 7 @ 9

13. ‘gfer ¥@ weg fRW W @ Jel 87

(1) ueft (2) SIS
3) = (4) e
T HE T AW
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17.

18.
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feafafad & & eF-w weg fumreff & g7
(1) <« (2) o=
(3) ®BX (4) farem

feafafea & @ 9’ f e w1 T™ g™ HH-HT 27
(1) feAfeamse 2) fEfEmEe
(3) BHHN (4) TATATES

frafafed & @ v Jm o1 W g faRay
(1) IR (2) gTEH
(3) Wr-sEn (4) SEfFa

frafafad & & oegy weg w1 W fafav)
(1) Hm (2) I
3) g (4) HYaHAN

frafafes o 9 frg dgd @ @ T agdr?
(1) <reH™ (2) TH:
(3) IRt (4) HE

‘w5’ 3@ e w1 gaERf fefafea @ @ w9-mm 87
(1) dehell® (2) T
(3) 3@ (4) 9=

T HE T AW
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(1) = (2) HE=
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(3) B T (4) YT
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(1) demr (2) FI=
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23.  Hfd H R Ggd TS QAT 77
(1) = 2 %
(3) sgu (4) e

24. HfG H A Hal Yol 87
(1) Sgo99 < 3o ° (2) U H g H
(3) "EH % @ (4) e #

25. fooiefl wgl auehdl &7
(1) 9ea & = (2) dai ¥
(3) <A [ 4) f&a & s °

T HE T AW
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26.

27.

28.

29.

30.

SECTION - II
MATHEMATICS

5 dozen + 2 gross = ? dozens
(1) 28 2) 29
3) 25 4) 27

The numbers divisible by 37 are arranged in ascending order. What will be
the number at the sixth place?

(1) 148 (2) 185
(3) 111 4) 222

If 12h August 2017 was Saturday, then which days would occur 5 times in
August?

(1) Thursday, Friday, Saturday (2) Sunday, Monday, Tuesday
(3) Tuesday, Wednesday, Thursday (4) Wednesday, Thursday, Friday

If the difference between two decimal fractions is 4.585 and one of the fractions
1s 3.256, then what is the other decimal fraction?

(1) 1329 2) 7.851
(3) 1.349 (4) 7.841

Choose the incorrect option.

(1) 100m = 1 hectometer (2) 1000/ =1 kilo liter
(3) 1lkg = 10 hectogram (4) 1gm = 100 decigram

SPACE FOR ROUGH WORK

0301-Hindi Set-A 8 of 32 Contd...



faum -
T
26, 5 @H + 2 y@ = TRam @A
(1) 28 2) 29
(3) 25 4) 27
27. 37 9@ faursy d@wed & d@d B9 U AN W B3d WH W HHA-H @&
i ?
(1) 148 2) 185
(3) 111 4) 222
28. 12 STRQ 2017 W AMER o f 3H HEM H HH-¥ IR U IR IR ?
(1) TEAR, IEHAR, IHER (2) e, AHaR, WIAdR
(3) WIEER, JUER, TEAR (4) §99R, TEAR, IEhAR
29. T HEE fUE @ A 4.585 Bl IWH W Us qumed A 3.256 ® @l
gEll med firm sH-He
(1) 1.329 2) 7.851
(3) 1.349 4) 7.841
30. = O @ e W@ g
(1) 100 #. = 1 R (2) 1000 . = 1 forarefiex
@) 1 . = 10 gwmm 4) 1 am = 100 Hum
T HE T AW

0301-Hindi Set-A 9 of 32 P.T.O.

%\S. % \P . \9.9/\9.. 9|9,/ \B..0/\8.0/|9..9,|9..9,\9..0,\8.0,\8..0\9,
Fa'aVa''aVa 'aVe *aVe’ 'aVe’ 'aVe’ *'aVe’ ‘aVa’ ‘aVa’ ‘aVa’ ‘aVa’ ‘aVa’ *a\



31.

32.

33.

34.

Find the percentage of the shaded portions in the adjoining figure.

(1) 25 % 2) 4%

) 75 % @ 7%

What is the difference between the smallest 3 digit odd number and the greatest
2 digit even number?

D 5 2) 7

3) 0 4 3

What is the difference between the first and the last number if 5.435, 5.084,
5.123, 5.064 are arranged in ascending order.

(1) 0.371 (2) 0.351

(3) 0.312 (4) 0.361

Vijayrao purchased 30 dozen oranges at the rate of Rs. 50 per dozen. 15 oranges
were spoiled. He sold the remaining oranges at Rs. 6 per orange. How much

profit or loss did he earn in this transaction?
(1) Profit of Rs. 570 (2) Loss of Rs. 570

(3) Loss of Rs. 345 (4) Profit of Rs. 345

SPACE FOR ROUGH WORK
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3. = @ T B % I@ifhd W 1 FAvA et |

1) 25 % Q) 4 %
3) 75 % @ 7%

32. A9 3l A B 9 B fTwm w9 @ Rl fl §E @ o9 gH oG
T Ia fepan?
(1) 5 2 7
3) 0 4) 3

33.  5.435, 5.084, 5.123, 5.064 3T TEARA I dgd HH O foed W URdl IR
fran g ° 3y fehdaan?
(1) 0.371 (2) 0.351
(3) 0.312 (4) 0.361

34, fooerm@ 9 T 50 @9 % @ ° 30 ToH HaU @er 3EH ¥ 15 gau @le
g TN S gC @t Al &l 3| T 6 Ud HAU & @ ¥ 9= fem @
3 3M FAER H Thadl o9 AT BIH FIAT?

(1) T 570 <mv (2) ¥ 570 =
(3) T 345 7N (4) T 345 @™
TF HE Fq T
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35S.

36.

37.

38.

If 15kg 500gm of rice is filled in a box then how much rice will be required
to fill 10 such boxes?

(1) 115kg (2) 155kg
(3) 1150kg (4) 150kg

A bottle can contain 125ml of scented oil. How many bottles will be required
to fill 4/ of scented oil?

(1) 32 (2) 24
(3) 50 4) 34

3A 40 is completely divisible by 6. Which numbers will occur in place of
O and A respectively?

(1) 3,2 2) 3,4
3 2,3 4 5,1

Which fraction of the following options does not indicate the equivalent fraction

of the unshaded portion in the given figure?

A
<
- @ 3
® 3 @ 13

SPACE FOR ROUGH WORK
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36.

37.

38.

wh fesd T 15 T, 500 U =m@e W odl 10 T # fopam <mee @@RAM?
(1) 115 f&. (2) 155 .
(3) 1150 fe. (4) 150 fe.

Uh didd § 125 faeft. goafta o W @ 4 fi gt d@ WA % T
fopat diqa it ?

(1) 32 (2) 24
(3) 50 4) 34

3A4 0T H 69 F39 9 S 8 @ O F A & TIF W HA
g HI-TT 3k ITTM?

(1 3, 2 2 3, 4
3 2, 3 “ 5, 1

T hfd W T d ¥ wn W fyw ifed T R W™ owm %
e fya & el

T&i fe@man?
A
=4

(1

OSIENoNEN
~
N
N—

3)
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39.

40.

41.

42.

In how many years the principle amount of Rs. 4,000 will get double at the
rate of 10 % p.a. by simple interest?

() 20 (2) 10

3) 5 4) 2

In the adjoining figure, by how much is the number of triangles more or less

than that of number of rectangles?

(1) more by 2 (2) less by 2

(3) more by 4 (4) less by 4

Which of the following options has the place value of 5, the least?
(1) 54,389 (2) 49,385

(3) 45,389 4) 74,592

Choose the incorrect option from the given alternatives.

(1) 3 of 28 = 12 @) 15 of 3 =12
6 _ 8 _
3 §of4=12 @) 18 of 3 =12

SPACE FOR ROUGH WORK
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39. T 4,000 10% WERY &< % & H fhad a9 % 0 W@ fb fyom T
F THH A HI A Y
(1) 20 () 10
3) 5 4 2

40. frafafega smefa @ Bgsli f @@ =qdsi % G i osmen feaa wE
AT AfUH 77

(1) 2 e (2) 2 =|
(3) 4 3rfees (4) 4 39

41, 9 # 9 fom W@ & 376 5 & AT AE wH 7
(1) 54,389 ) 49,385
(3) 45,389 4) 74,592

42. 9= @ W™ W@E A W R w@E Al

() 28 0 3 T = 12 @ + # I5T = 12
3 14 % §mm o= 12 @ 5w 8T = 12
TF HE Fq T
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43. 504m long wire is cut at 8 places at equal distance. What will be the length
of each piece?

(1) 68m (2) 63m
(3) 56m (4) 54m

44.  Write the correct option from the given alternatives.
(1) 20 +5) +5=20+5+5 2) 7x8+5=5+8x7
3) 105 +3>4x9 (4) 100 x 10 =+ 1 <100 + 10 x 10

45. By how much is the sum of number edges and vertices of a cuboid, more
than the difference of the number of edges and faces of a cube?

(1) 8 2) 12
3) 14 4) 6

46. Harjeet took a loan of Rs. 20,000 from a bank at the rate of 7 p.c.p.a. for 3
years. How much simple interest will he have to pay to the bank?

(1) Rs. 4,200 (2) Rs. 4,300
(3) Rs. 4,380 (4) Rs. 2,400

47. Complete the following series.

o RR == gl

Iy > < Q <— c—>
(3)i>2;1 (4)<):2\>1

SPACE FOR ROUGH WORK
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43.

44.

45.

46.

47.

504 X od IR HI 8 HTE W HIEH Ik THN e I dl YIh e
# s fhaft grfie

(1) 68 =i (2) 63 .
(3) 56 i (4) 54 i

1 @ @ $9-Tn v @@ 37 8 o
(1) 20 +5) +5=20+5+5 2) 7x8+5=5+8x7
(3) 105 +3>4x9 (4) 100 x 10 = 1 < 100 = 10 x 10

YA % HR d MNfagI H FA AM EH b HR F TSI ok HAL hl U
fopa Afes 7

(1 8 2) 12

(3) 14 4 6

Fod g 9 & ¥ T 20,000 7 NI & @ T 3 99 & A€ HEwo
S W T @ 38 d% w foham s T ggm?

(1) T 4,200 2) T 4,300
(3) T 4,380 4) T 2,400

= smepfadg w1 q@ w0
RGN ES i e S
) —> <— @ <— —>
(3)@3;1 <4><:2;Z

T HE T AW

0301-Hindi Set-A 17 of 32 P.T.O.

SIS
22N

.. 04\9..9,,9..0,,0.70,,9
‘aVe’ 'eVe’  'eVe’ 'aVe'  'a

QORI
NS

%
LS

I\ T\ T TSN TN TR T VTN TN AR TS VI TN
IOQU
oV’ 'aVe’ '

Fa'aVa'aVa *aVa 'aVa’ *aY




48.

49.

50.

51.

52.

How many times i should be added to %, to get the addition 3?
(1 4 2) 3
3) 5 4) 2

In a market, if the cost of 17 boxes of mangoes is Rs. 6,035, then what will
be the price of 25 such boxes?

(1) Rs. 355 (2) Rs. 8,875
(3) Rs. 8,625 (4) Rs. 345

Maria had to reach for a seminar at 10.30a.m. but her vehicle got punctured
and she got late by 45min. Then at what time did she reach for the seminar?

(1) 11.30min (2) 11.45min
(3) 1.30min (4) 11.15min

Which of the following options is incorrect?

(1) Any number multiplied by zero, gives the same number.

(2) Any number multiplied by zero, gives zero as the product.
(3) Any number divided by 1 gives the same number as quotient.

(4) Any number divided by the same number gives 1 as quotient.

How many 2 digit numbers have 6 in them?
(1) 19 2) 17
3) 18 4) 21

SPACE FOR ROUGH WORK
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B 3 fim d 3 et aw frem wodm 3 smEme
(1) 4 2 3
3 5 4 2
49, 9N H 17 M@ % U A FHa T 6,035 Bl oAl W 25 Al & ufed
H1 Hed TehaHT?
(1) T 355 2) T 8,875
3) T 8,625 4) T 345
50. W @ AR % f9U 9¢ @ o9 UgeE ofl Tg ME % UEER @ S
" 3 UM Fe @ g3 Al a8 fohad a9 WER H ugel?
(1) 11 €. 30 fa. () 11 €. 45 f.
(3) 1 a. 30 fu. 4) 11 =. 15 fa.
51. f= o @ oF-w foum smww R7?
(1) foreft off g=m o s @ o0 W PERA g8 T A gl
(2) et off T § 3@ ¥ O HE W OPEwA I AT R
(3) Tt oft e & s ¥ 9N W W YTTHA 98l TEd ITdl Bl
(4) Tret off e o I @ | 9N T W UTThA Uk AT R
52. Q1 3% hi wEARH H 6 AhIdd GEAN  TehaHl?
(1 19 2 17
(3) 18 4) 21
T HE T AW
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53. What remains if 10 is subtracted from 10 % of 200?
(1) 10 (2) 20
(3) 180 (4) 190

54. Which of the pairs is neither co-prime nor twin prime?

82 | 88 71 | 73 41 | 43 29 | 31
(1) 82, 88 2) 71, 73
(3) 41, 43 4) 29, 31

55. Sameer wrote six lakhs seven as 6000007 by mistake. By how much is his

answer wrong?

(1) 54000 (2) 5400000
(3) 600007 4) 5040000
56. (3.5 .5)_
(3+5+8) =2
2 13
(1) 557 @ 13
3 5
3) I5g @ 254

57. A fencing is to be put around a square shape garden with area 625sq.m. What
will be the expenses for a 4 layered fencing around it, if the rate of fencing
is Rs. 50 per meter?

(1) Rs. 5,000 (2) Rs. 50,000
(3) Rs. 2,000 (4) Rs. 20,000

SPACE FOR ROUGH WORK
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53. 200 % 10 ufasa & ¥ 10 =@ W foraar s=m?
(1) 10 2) 20
(3) 180 4) 190

54 f @ @ a9 @ A T A JugA B A @ HeqA?

82 | 88 71 | 73 41 | 43 29 | 31
(1) 82,88 2) 71,73
(3) 41,43 4) 29,31

55. TR 4 ‘9% 9@ 9 W& Hl Fh B fawd g Tedt @ 6000007 feran
ql IFH IcR fohad R W TToId gI?
(1) 54000 2) 5400000
(3) 600007 4) 5040000

56. <i+i+i) - fHaa?

4 6 8
) 55 @ 1
3) 1% @ 23

57. 625 IHIX SThAETA SRR O H 4 W &g oTH & fau T 50 gfgHie
% @ 9 fopam w=i smAm?

(1) T 5,000 ) T 50,000
(3) T 2,000 4) T 20,000
TF HE Fq T
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S8.

59.

60.

61.

Under a tree plantation programme, a social welfare organisation decided to
plant trees at Skm distance on 100km long road, on both the sides. How many
trees can be planted?

(1) 40 (2) 42
(3) 20 4) 21

Sandeep has a bundle of notes of Rs. 100 from serial number 42378 to 42432.
If instead of Rs. 100 notes, he wants Rs. 500 notes, how many notes of
Rs. 500 can he get?

(1) 11 2) 55
(3) 10 4) 54

Aditya incurred Rs. 9,500 expenditure towards travel for his Kerala trip. He
spent Rs. 7,250 on miscelleneous expenses. How much did he spend in all
for Kerala trip?

(1) Rs. sixteen thousand seven hundred and fifty.
(2) Rs. sixteen thousand five hundred.

(3) Rs. seventeen thousand two hundred and fifty.
(4) Rs. fifteen thousand seven hundred and fifty.

What is the time in the adjacent clock?

(1) 12 2 9
(3) 8 4) 11

SPACE FOR ROUGH WORK
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S8.

59.

60.

61.

T AW FEAT 4 gERY HRiH Wk iatd 100 fRft @ TR WS
frft & TR W wh & T @ g W& Ug e w1 fwem R @ ga
forae Uz R S e

(1) 40 Q) 42
(3) 20 4) 21
a9 % UE 42378 HHIH H 42432 HHIH Tk HH H @ g AR & 100
TOT Rl Uk ded gl 39 100 9= o ARl hl FE IW 500 TG ok AR

TMed @ 500 FAT o PHA Tohad Ale IR ?
(1) 11 (2) 55
3) 10 4) 54

AfeT & A W W AE o HAU TS A1 B IBN TF 9 FdT G0 9N
TR I @ gAT B Al I R W h U FA T wuEm wH gan?

(1) 99 a0 &R
(2) Hie Hlddd TSR

(3) "d1 |du BN

(4) 9N HIE TR
e udl A fRad a9 27

(1) 12 2) 9
(3) 8 4) 11
T HE T AW
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62.

63.

64.

65S.

Find the perimeter of the adjoining figure if the area of every square is 1sq.cm.

(1) 22cm (2) 22sq.cm.
3) 12cm (4) 12sq.cm.

435 x 1 = =5 % %0

In this multiplication, * has the same digit. Find the digit in place of *.
(1) 0 2 1

(3) 2 4 3

Igbal purchased an old motorcycle at Rs. 25,000. He spent Rs. 8,500 on its
repairs, Rs. 2,500 for its colouring and then sold it at Rs. 38,500. How much
profit did he earn in the following transaction?

(1) Rs. 13,500 (2) Rs. 2,500
(3) Rs. 2,850 (4) Rs. 1,550

Which of the following is a correct statement?
(1) The sum of all angles of a square is 180°.
(2) The sum of all angles of a triangle is equal to right angle.

(3) The number of sides of a rectangle is double the number of sides of a
triangle.

(4) The sum of all angles of a triangle is half the sum of all angles of a
rectangle.

SPACE FOR ROUGH WORK
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62.

63.

64.

7 omfd & yok @ w1 &Fma | o Wl @ @ okfq A uRfufy
el

(1) 22 @t (2) 22 o Gft
(3) 12 @t (4) 12 =t @ft

435 x 1 % = 5 % % 0

M OTN A % o YA W UYF 3% g d 9§ b HH-dAT?
(H 0 2) 1

(3) 2 4 3

ST 4 25,000 TR H TH YT G AhA G| 3Hh HEHA oI
T 85009 TH & faw T 2,500 @d foham deom 3@ T 38,500 § o= faar
3@ ¥aER H 3W feha @w gs?

(1) T 13,500 2) T 2,500
(3) T 2,850 4) T 1,550
65. T @ @ =wH-= foam =@f 27
() = % &wff 9@ ®H+ & A 180° BT Bl
) Byst & wft FET F WA H AN THAH * TR BIAT Bl
(3) =S % yonell B wea Gy % Sl Al WA w1 4 T Bl R
4) By & @ft *E F aml & G Gqds @t w0 F AE & oFm
ST 3TN BT B
T HE T AW
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66.

67.

68.

69.

70.

Which is the greatest number?

(1) 091 (2) 0.899
(3) 0.090 (4) 0.900

To help the flood victims, the students of Adarsh Vidyalaya collected Rs. 47,989
and the students of Saraswati Vidyalaya collected Rs. 8,493. From the total
amount if Rs. 50,042 are used for domestic items and remaining amount is

used for food packets. How much amount is spent on food packets?
(1) Rs. 6,340 (2) Rs. 6,440
(3) Rs. 5,440 (4) Rs. 5,340

Which of the following statements is correct?

() 25 % = 1525 ) 5 % of 20 = 4
(3) 50 % of 50 = 2.5 4) 0.68 = 68 %

What is the diameter of a circular ground whose radius is 7.6m?
(1) 3.8m (2) 152m
3) 14m (4) 7.6m

2.25m cloth is required to stitch a shirt. How much cloth is required to stitch
5 such shirts?

(1) 10.75m (2) 11.25m
3) 8.75m (4) 9.25m

SPACE FOR ROUGH WORK
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66. T 7 ¥ Twag & d& HH-H?
(1) 0.91 (2) 0.899
(3)  0.090 4) 0.900

67. ey faememd T 47,989 9 W&l foRme™ 9 T 8,493 W@URd  HeeH[Y
THeal TRATI 3EH § T 50,042 Wi oGl % U 9 S g WA @H h
uifehe o T I9ANT fRATI A1 @M % UIlhe o [T fohaH o 1 ST g7

(1) T 6,340 (2) T 6,440
(3) T 5440 4) T 5340

(RN YUASLU\SL0/\9. 9|9,/ \B..0/\8.9/|8..9,\9..9,\9..0,|8.0,\8..9/\8.
Fa'aVa''aVa 'aVe *aVe’ 'aVe’ 'aVe’ *'aVe’ ‘aVa’ ‘aVa’ ‘aVa’ ‘aVa’ ‘aVa’ *a\

68. fm= # @ wH-w faum @& 237

) 25% = 150 @) 20 ® 5 ke = 4
(3) S0 @ 50 ufos@ = 2.5 (4) 0.68 = 68%

69. 7.6 W. @™ FdhR HgH H ™ feha?
(1) 3.8 H. (2) 15.2 .
(3) 14 H. (4) 7.6 H.

70. Uk I faead & @ "ar @ dier wugr @war 7 @ Ui 3 faead &
fu fopam e wugt e

(1) 94 W= (2) @1 ™R
(3) W= 4) @& @
T HE T AW
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71. How much more is the number of divisors of 36, than that of divisors of 247?
(1) more by 1 (2) more by 2
(3) more by 3 (4) more by 4

72.  What will be the consecutive number after seventy five lakhs nine thousand
five hundred and thirty five?

(1) 759536 (2) 7590535
(3) 7509534 (4) 7509536

73.  Under “Tree Conservation” programme, Maharashtra Government planted 8000
trees on Amravati-Akola and Amravati-Yavatmal Highway, on both sides of the
road. If 40 % trees are planted on Amravati-Akola highway, how many trees
are planted on Amravati-Yavatmal highway?

(1) 3200 (2) 4200
(3) 1600 (4) 4800

Instruction for Question No. 74 and 75.
Observe the pictorial information and answer the questions.
In a village, people have different coloured Ration Cards.

Colour of Ration Card No. of houses

White | |

Yellow

Orange

Scale : 1 picture = 100 houses

SPACE FOR ROUGH WORK
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71.

72.

73.

36 % P (USRI hl HEAT 24 % Ha oWl h @@ d fhaar sife
27

() 1 2) 2

3 3 “4) 4

“Tugcd W@ A BWR U Ot Ufqq e & 9 STHalel shiteh  GEAT
f= 4 9 =9 #He

(1) 759536 2) 7590535

(3) 7509534 4) 7509536

‘g Fa¥d HHE b FdTd HENSE IMEA J SN - RIS I STHUE
- IAHTA HEMTH W A% 8000 I EEl IWH H 40 Wlawd g
JMUSA! — I HEMFTT W ST TR TH(Sd] — IJIauTal HemwF W

fhad 3@ TR T
(1) 3200 (2) 4200
(3) 1600 (4) 4800

T . 74 T 75 % forw gEAn -

fafafga ey IEedl & uR W IR faw)

TH ME %k B W A A @ ™ T % wHEeE R

TIEHRS HT TI U hl g
qthg
e | |

ggor - 1 = = 100 =

TF HE Fq T
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74. What is the number of houses that have orange colour card?
(1) 800 (2) 400
(3) 200 (4) 600

75. How many times is the number of houses with white card to that of the number
of houses with yellow and orange colour card?

(1) 3 times (2) times

(3) Double (4) times

SPACE FOR ROUGH WORK

0301-Hindi Set-A 30 of 32 Contd...



B e g A D i S I Ot |

‘aVa’’aVa''aVa''aVa" aVa" a\a 'aVa 'aV/a" aVa" aVa 'aVa 'aVVa" aVa"

Sl
a

1
2

173

(2) 400
4) 600

2
(4)

he TIEhIS a1 HU hl &I Tl 9 hIiEm [ESEI 90 shl §&I0

1 fohar AT B?

UM TEEHE qel T hl HA @ foha1 ?

(1) 800
(3) 200

(1) 3 T
(3) QI

74.
75

T HE T AW
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